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B. Com. VIth Semester Degree Examination
Commerce
(Income Tax - II)
Paper - 6.6
Time : 3 Hours _ ' : Maximum Marks : 80

Instructions to Candidates:
1} Answer all sections, subjects to internal choice.
¢3030% B&i%ﬁmﬁ‘&"h{d ‘DER PINNYEY Yu3DA0.
2) Give working notes, wherever necessary.
038309 B¥IFH 4eRD.

SECTION-A
 open - ®

Answer any ten of the following. - 10x2=20
S JUNSHNYE, Weword B3P, eugDD.
a What is long term capital loss.

Deperad wormeY &, QoEBed ? _
b. What is the non-taxable limit for an individual aged 50 years.

50 ae Som oo Faah S0 mod, 203 BRAD HZTIL.
C. What is Hindu undivided family ?

HOTD DO, WELOW oEderd 7
d. State any two examples of incomes taxable under the head “Income from other

“Sources”.
9338 Jppony Bﬁ&i}@ utbai Fone 30488 WIS uim@madti) QTR

umuﬂaﬁe}m UTRB TN ﬁmaa

€. " Define the term “Partnership”.
e dd’ IWT méajﬁdﬁigl HRBD.
f. What are commercial securities ?

aﬁﬁmﬁﬁ $5,30 e I3, ndoudedd 7
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g What do you mean by cost of acquisition ? -
DBed JuSomded> ?
h. Give the meaning of set-off of losses. |
, JRnYRD D3N (set-off) IREWJHWO ¥Pr &eBO.
i. What is belated return ?
33BN 3T voeed BT I3, do0qded ?
J- Give the meaning of “Advance Tax”.
Iwonad 301 vgs &eRD.
k. How do you treat the interest received by an individual as partner ?
WY, TPMRTmIN A eF0XT WORDYE Deds wBDHIY, ey oen
' w@ﬁi‘ﬁnu&ﬁ

1. Expand PAN and TAN.
PAN =3 TAN g Jz3020.

SECTION-B
_ ON-W
Answer any three of the following _ 3x5=15
8 YNTY YO Wedd Boeds vu3dAD.
2 Mr. Tanush, purchased a hc-use in 1975 for Rs. 3,00,000, which was sold in November

2012 for an amount of Rs. 40,000. The fair market value of the asset as on 1-4-1981
was Rs. 3,50,000.
The cost Inflation Indices are 1981-82:100 and 2012-13:852.
Compute the taxable capital gain for the assessment year 2013-14 on the assumption
. that he purchased a new residential house on 28-03-2013 for Rs. 5,00,000.
Dl DR ¥ID 19750¢ de. 3,00,000 Rl VDT by, Je3owo®
2012 ©¢ dn. 40,00 000 ROk BRooks SRBmT. dewos 01.04. 1981 Bo
B0 0T ﬁ)‘éd}ﬁhﬁ X33 dne. 3,50,000 dwti)a‘ﬁ
- o8, 3D AR 0Trith 1981-82 100 23 20 12 13 852 003 Q3.

&Baidj m,a mﬁﬁ(ﬁ‘:(ﬁ) 28-03-2013 doth Gn. 5,00,000 nen ajﬁea,omaﬂ
Dot ML, I0AMH wmm;s WOBTY uaz;dai) B0ewUs JIAr 2013-14 6
F0RHOBOVD.

3 From the following particulars of income of Mr.Suresh, compute his taxable income
from other sources for the assessment yéar- 2013-14.

'a) Rentreceived from letting a factory with plant & machinery Rs. 1,22,400. Fire insur-"

ance premium in respect of factory and plant & machinery Rs. 7000. Repairs in re-

spect of factory Rs. 18,400. Depreciations on plant & machinery Rs. 20,000.,
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b) Winnings from lottery (gross) Rs. 2,00,000 .., o

c¢) Dividend from Indian Company Rs. 10,000. -

d) Winnings from Horse race Rs. 10,000.

ol BBe3 U8 LORAMS B YRR ISCMYed FoHETRA wUIHS B33
SROTY BTROLNYRY F0eT0 IR 2013-14%, go@&BO0D.

a)  F,TD DI, 0hodn ,cBBTNYR, WoBAR JeBFBoT wor B TBe. 1,22,400.
$,T0 DB, abode, cRFTRRPR F0woRIT AT od B dwe. 7,000. 9,30
WOk, 543, de. 18,400. abodn,exs¥0nnd Deds 53¢ de. 20,000.

b)  eetsdonod Mg Beo (wid)) dw. 2,00,000

c) oddecad ToIAMVOW worl o3 de. 10,000.

0 d) 2uY BogBod AY B de. 10,000
4 From the following particulars of income of Sri. Sachhin, compute his gross total
income for the assessment year 2013-14: |
Income from house property — I - Rs. 44,000
Loss from house property — 11 Rs. 20,000
(self occupied property)
Loss in retail business Rs. 20,000
Profit from speculation business Rs. 60,000
Short term capital gain . | Rs. 10,000
Long term capital gain Rs. 36,000
Long term capital loss | Rs. 35,000
T 3N swecdh IIondon 3¢ N?,&Bpfddd 2obd), eamui)aiab BOTOR JIRE
2013-1438, So@&RB00Y.
E — I Dod wod smod Rs. 44,000
b8 — 11 Dol & OE Rs. 20,000
(3,03m,0 atbReoB))
B HDODORT W3, | Rs. 20,000
AR FTHOWRE €973 . ' Rs. 60,000
BERNE wormed ol Rs. 10,000
Degor 3D wodied ooy Rs. 36,000
Regrrah wordand IF, Rs. 35,000
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5 . Write short notes on any4wo of the following: - .-+ . - R

a) Self —assessment. N : -
b) Clubbing of incomes
c) Refund of Tax
B SINSHNIYS 15630 HOBE, L3 wBSAND.
a) & oo 80 APFDDIE.
b) esweubnRY) ummam@m.
c) 3818 DhzeR8.
6 Calculate the tax liabilitiy of Mr. Shashikant for the assessment year 2013-14, if
a)  his taxable income is Rs. 12,00,000 | |
b) and he is aged 65 years. '
ol 3803030 304 mﬁmbﬁubab ﬁmﬁdﬁ SaF 2013-143, J59,100
SR3BD. wor Sed;

a) o330 3011 wdEES sweod de. 12,00,000 A Sz,
b))  ©30 Jabz 65 sNFU.

SECTION-C
Won-s
Answer any three of the following: ‘ 3x15=45
3INT adnYymedde Fedd ww3dD. '
7. From the following information compute the taxable capital gains of Mr.
Ganabathi for the assessment year 2013-14.
* - Particulars | Jewellery House Property
| Rs. Rs. |
Cost of acquisition 8,00,000 1,09,000
Yearof purchase 1975-76 1982-83
Cost of improvement 66,500 . 75,000
Year of improvement 1985-86 1987-88
Selling expenses — 10,000
Sale proceeds 1,42,00,000  16,00,000
Year of sale | 2012-13 2012-13

The fair market value of jewellery as on 1-4-1981 was Rs. 14,00,000. The
cost inflation indices were: |
. 1981-82 7100, 1982-83:109, 1985-86:133, 1987-88:150 and 2012-13:852.
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o1 YN Snb3anoT FOE0H IR 20 113'—'1'431li el fnsschao 3014
WYIRT WoRIY t)azﬁa'iaia)t o SRODLD.

dI3oried e3onniw S NTHY
ge. oR.

D0eRLT 33 8,00,000 1,09,000
0eDHLT S 1975-76 1982-83
okl SRBF Dubr 66,500 75,000
O, INBT JdF 1985-86 1987-88
IR0ots DWF — 10,000
ARTeBOT Worw) 1,42,00,000 - 16,00,000
IR0T IAF 2012-13 2012-13

Dowod 01-04-1981 dord wssrnd oleery ¥d de. 14,00,000
JAdogW. [ TD 2RWY0TND 1981+82:100, 1982-83:109
1985-86:133, 1987-88:150 =&, 2012-13:852 dod adsy).

8. Ayush, Tanush and Akilesh are the working partners in a firm sharing profits and
losses in the ratio of 2:2:1. The profit and loss account of the firm showed a net
profit of Rs. 2,73,500 after debiting all the expenses including the following
payments to the partners :

~a) Salary to Ayush Rs. 12,000 per annum.

b) Interest on capitals at 15% to all the three partners Rs. 10,500
¢) Commission to Tanush Rs. 5,000 _
d) Bonus to Akilesh Rs. 8,000
Compute the book profits and the taxable income from business of the firm for
“the assessment year 2013-14.
woth Zoewmedd oD eodnd, I ::osa wided O3 TRBDT
FMToND) ooy am;mkpmglz 2:19 esai)aia:-:cie; BOUBBRW,3TD.
QR DUWDE MY, 6&3%%%@@,'6’# %vﬁaizé;rwagt ToeMTOR ToR3IT
Seed ToeDE ﬁof&ui) Ry DI, ﬁ“_‘i‘; a3 de. 2,73,500 Ua;i &)d‘jq
PR, dpeDRIT.
a) BaZ AN AeBT Se33 de. 12,000 IHET,
b) o TeenmTBA B¢, 15% U, WoBEIRYH eI wid) B dn. 10,500
nes) dpzeRnd.
c) 3DAMN BT B dw. 5,000.
d) ©3de3dn AeBT adexlw de. 8,000
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From the following pamculars of incomes of Sri Pavan Kumar for the prevmus
year 2012-13, compute the income from other sources.
a) Directors fees from company o 20,000
b) Intereston bank deposits 6,000
¢) Income from undisclosed sources , | 50,000
-d) Winnings from lotteries (net) 2,80,000
¢) Royalty on a book written by him 25,000
f) Interest on loan advanced to arelative - 10,000
g) Interest on Tax-free debentures of a company (net-listed) -~ 21,600
h) Dividend from co-operative society 8,000
i) Intereston post-office savings bank account | 5,000
He paid Rs. 100 for collection of dividend and Rs.1,000 for typing and statio-
nery concerned to book. -
s Jar 2012- 135 3020037 sweod JIonRYeT Q . I BDIR0 -
O30 2td), 980 ;Smoﬁe; ST 0DNYR) FOTOBOND. '
~ Ras.
a) domdawon WG Jderdss o), 20,000
 b) 08 Beatos BoedS wd, 6,000
¢) Pecaid Jweornd smead _ 50,000
d) entsdanon NG Bo (AZY) | 2,80,000
e) WIF 3,558 wor Foya 25,000
f) RowodTEdA BB mow Deds Wi - 10,000
g) Bozdod VA - FwE oI, NY DedF B (AZ Y- MOmM)QI 600
- h) Z&Te0 FozDoB wold P03 8,000
i) wotd sledad sud30d wedoh Heds WA, 3,000
R 0BT FaeY Fnaden de. 100 HI @ *’ﬁﬁ ZowoRAT wdHon®
Ford SeDT DA, fewN, ezt dr. 1,000 [, mad)@d
10. From the following particulars furnished by the Karta of a Hindu Undivided
Family, compute the total income of the family for the assessment year 2013-14.
a) Profit from business Rs. 84,"780
CVIS 333 A-2K14/2004 | (6)
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b) - Salary received by the member of the famlly @mployed in a company Rs. 50,000

¢) Directors fees received by the Karta representmg the famlly Rs. 8,000

d) Dividend from co-operative society Rs. 8,000

¢) Donation to approved institutions Rs. 6,000

f)  During the year the family sold a building for Rs. 2,78,700 which was purchased
on 11-04-1986 for Rs. 42,000. It also sold gold for Rs. 47,300 which was
purchased on 1-3-1987 for Rs. 7000. The cost inflation indices for the financial
years 1986-87 and 2012-13 were 140 and 852 respectively.
ot empaasé BLDOWT 0VTNIT WHNITHE IJ0NYoT, FOFTOH JIar
2013-143, 3t000T wid), BWODHIRY, Fo&HBODD.

a) D),HUDT wod wezd Te. 84,780

b) Bomdobd 3@36& achD 3 BT Se3x dw. 50,000

) BOOWIW) F,30DY whuERT IBW AWerdTT Be, 8. 8,000

d) @0 Jomdod IAT ewyeo3d de. 8,000

e) oDleehd joﬁﬁ el deedd dw. 6,000

f) Doeow 11-04- 1986 gozh . 42,000M911 D0eDAT FLIBI™) i’bh.i)ozod_]
B sweod Jac 2012- 13!:5-::‘) dn. 2,78,700 ngn aﬁamk& IR BT,
agﬁ Bmeos 1-3-1937 Cod aaacan,a wWoMeTI®), - DDed B34 7,000
VU™, Btdow de. 47.300 3 Ioots INBY. Bweod IR 1986-87
DB, 2012-13 dY e, 3B AewR0snd §,mA 140 B 852 o=,
Q3IEI.

I From the foilowing particulars of income furnished by Mr. Srikant for the

assessment vear 2013-14 and the losses carried forward, compute his gross

total income.
Rs
a) Longterm capital gain 15,000
b) Short term capital gain 10,000
¢) Income from silk business 46,000
d) Speculation profit 5,000
e) Interest on debentures of a company (gross) 15,000
f) Income from House property (computed) 8,000

The carried forward losses from the assessment year 2012-13 are:
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i) Loss from silk business | 22,000
i1) Speculation loss -~ 8,000
ifi) Short term capital loss - 8,000
iv) Long term capital loss 7,000

Current year’s depreciation for silk business amounted to Rs. 800.
8,05003 ¥3D WEMNT SER0D ITONIE), R, R0oBABEROB WOl
SETAUEY ZBnesy soewss S\r 2013-14F 638 Wi, e3T ORI TY

For&BOLD.
Rs

a) DeFor3H WoBWY Y | 15,000
b) ©erzd wodey ey L _ 10,000
c) BeF mémdaom 20T BTHOD ' 46,000
d). 3w, OB B2 - 5,000
e) ToIV0H oI, Ny Deds WH (W) 15,000
f) Bowor wor umead (FToHBT) 8,000
00908 I@r  2012-13 Dot AwomIBAER0m wOT FE[i:

) S mmwossx, 0 0 - 22,000
i) b, =R Te00 B&, | - 8,000
i) eensh wodmey 33, | | 8,000
iV) Degarad wormY B, ; 7,000

de%mﬂmd% ZowodAd 8 JArsd 3389 dwe. 800 a3y,

000
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